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9999 R[GHXET 8 5 7 6 8 8 7 13 9 12
9410 RETT & 2 1 4 6 2 6 2 4 0 2
9420 RHETHHE 1 2 0 1 1 0 0 0 3 1
9430 RETFER 0 0 0 0 1 1 0 0 1 0
9440 RETAEF 0 0 0 0 0 0 0 0 0 0
9450 RHETHER 0 0 0 1 0 0 0 0 0 0
9460 RET{—_HE 0 0 0 0 0 0 1 0 0 0
9470 RETEXR 0 1 0 0 0 0 0 0 0 0
9480 RHETHER 0 0 1 0 1 0 0 0 1 2
9999 RIXXEt 3 4 5 8 5 7 3 4 5 5
99999 h& &t 701 670 713 720 718 787 786 740 818 771
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THRET (KF)3—F {THRET(KF)%& 50
10 HAT
20 [ d-HT
30 @M
40 LRHET
50 KET—T B
60 RET_TH
70 RET=TH
80 AT IR AT
90 FEHATIRAT
100 b ALET
110 AT HT 1
120 ¥A;TAHT
130 t&FHT
140 E[EHET
150 1 FFrHET
9999 KER X &t 5
510 AETHT B
520 4L EEMT
530 J\It&HET
540 15 EHT
550 FithET
560 = ZEHT
570 EEHT
580 #rBHET
590 FriEMT
600 ZEARET
610 FHT
620 FiEET—T B
630 ¥TERT T H
9999 J\ R XET 3
1010 X HT
1020 £ A HT
1030 b HT
1040 74 FrHT
1050 FHHET
1060 FH _EHT
1070 F7[RHET
1080 & HHET
1090 Hi&Hr
1100 L BEHT
1110 fRIEET
1120 {E1E JTHT
1130 +4<HT
1140 Fk[RHET
1150 #/RET—T B
1160 F/RETZ=T B
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1190 #&FARHT
1200 XFHET—TH
1210 XFHEIZTH
1220 FrHT
1230 %KHET
1240 ZEHT
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THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

1250 fEEIRT 2 1 2 1 1 4 0 3 3 2
1260 B & 0 0 0 0 0 0 1 0 3 0
1270 EEHT 2 0 1 0 0 1 0 2 1 4
1280 FRAHET 4 3 1 2 3 0 3 4 2 2
1290 $RHET 2 2 3 1 6 0 3 2 4 1
1300 & EEHT 2 0 2 1 2 3 1 3 1 1
1310 RJLHET 2 0 1 3 3 2 1 0 1 2
9999 K HEMRXET 100 97 108 107 115 86 102 104 91 122
1510 }E#D_E BT 10 7 11 5 11 4 12 19 8 10
1520 HEHTHET 8 13 10 10 8 8 12 9 9 6
1530 }EHTHT 1 0 1 7 6 5 2 4 3 1
1540 K4EFHT 7 8 8 11 8 3 8 7 14 6
9999 FEMNA: X 5 26 28 30 33 33 20 34 39 34 23
2010 EE AT 2 4 4 3 6 2 4 1 2 2
2020 % EFGHT 4 5 3 5 4 3 5 2 1 5
2030 E0HT 0 0 1 0 0 0 0 0 0 0
2040 ;ET—T H 2 7 4 2 2 0 3 4 1 3
2050 BT =T B 1 0 5 0 6 2 4 1 1 0
2060 ¥g AT 0 1 0 1 0 0 1 0 0 1
2070 FxEBT—TH 3 4 3 7 2 2 2 4 2 2
2080 FRET—TH 3 2 2 4 4 1 1 2 1 1
2090 THiRAT 26 27 13 22 18 17 18 21 16 20
2100 fhdLHT 3 4 5 1 2 3 0 3 5 3
2110 }EWIETET—T B 4 3 2 5 2 4 6 4 5 3
2120 HEMIFTETZT B 4 10 3 3 2 4 4 2 6 4
9999 £ ERXET 52 67 45 53 48 38 48 44 40 44
2510 FAMEET 42 20 24 23 34 22 22 30 25 27
2520 sk EeHT 18 15 19 29 27 17 17 18 20 19
2530 = /INRHET 3 8 6 6 5 3 3 5 4 6
2540 FHi5HT 5 5 5 4 6 7 6 8 5 6
2550 ;HHET 3 1 1 4 6 4 2 2 6 1
2560 = SHT 16 10 15 6 14 14 13 14 6 9
2570 X &HT 0 0 2 0 1 0 0 0 0 0
9999 ME R X ET 87 59 72 72 93 67 63 77 66 68
3010 X#FHET 10 13 13 10 10 13 10 13 9 14
3020 ;BT HT 12 13 17 18 21 9 20 7 11 14
3030 L EFHT 24 12 7 10 12 15 13 14 13 7
3040 &S _LHET 2 3 2 1 3 3 0 1 2 1
3050 R AT 36 28 21 32 35 25 43 37 38 17
3060 B THT 4 11 7 6 5 6 6 3 7 10
3070 THESEHT 5 6 7 8 3 7 7 8 7 3
3080 H hHT 7 5 2 7 4 4 4 6 5 9
3090 H A E AT 5 8 6 1 6 3 3 4 2 5
3100 EH R FEHET 6 8 5 6 9 11 6 8 8 6
3110 EHAILHET 5 5 4 6 8 2 8 5 1 8
9999 /\FHERXET 116 112 91 105 116 98 120 106 113 94
3510 2R LHT 1 0 1 3 3 1 1 10 4 4
3520 £ R chfT 4 8 3 4 10 3 8 4 3 4
3530 2R THT 12 21 14 12 8 13 11 17 21 21
3540 =B KHT 4 8 8 5 8 1 10 7 1 7
3550 AEFHET 10 4 6 8 8 7 14 11 5 12
3560 = T B HET 2 2 5 5 3 5 3 1 1 3
3570 & T AafT 12 10 16 10 16 11 10 14 4 6
3580 FLIFTHT 7 6 11 3 6 7 5 6 3 2
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THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

3590 JEMT 0 0 0 0 0 0 0 0 0 0
9999 S HKXE 52 59 64 50 62 48 62 70 42 59
4010 41| RET 7 4 4 2 4 1 5 2 5 3
4020 {E&HT 0 5 2 0 0 1 1 2 0 0
4030 5HT 4 3 2 3 4 5 0 3 3 4
4040 = HEAHT 2 5 1 9 1 2 4 2 5 2
4050 7K EHT 4 5 7 5 7 7 2 6 6 9
4060 E5Z HAT 8 3 8 5 3 6 7 1 3 2
4070 JtJRHET 4 3 1 2 1 7 1 1 3 4
4080 =;T;HAMT 2 3 4 2 1 2 3 1 2 4
4090 FR ek HET 5 3 3 3 3 1 5 3 5 4
4100 g FEFOET 1 0 0 2 3 3 1 1 1 1
4110 JEFF0ET 5 1 2 2 0 5 0 0 1 1
9999 2RI X st 42 35 34 35 27 40 29 22 34 34
4510 EREE—ZEHT 5 4 5 7 8 8 10 11 11 8
4520 EREE — AT 2 2 1 4 0 4 1 1 0 6
4530 EREE=ZEHT 1 1 3 1 1 2 1 1 1 2
4540 B} EErUZEET 1 1 0 2 4 1 1 2 2 3
4550 EREE FFHT 3 1 2 1 2 2 2 0 2 2
4560 AREE/EHET 1 1 1 2 0 0 1 2 1 1
4570 EREE-HZFHET 0 3 2 3 1 0 2 2 3 1
4580 ERZE/)\ZHEHT 0 1 1 0 0 0 0 0 1 0
4590 EREE N FEHT 0 2 0 1 1 0 1 1 0 2
4600 EREE-+ZEHET 0 0 4 1 1 1 1 2 3 1
4610 EREE+—ZHT 3 2 0 0 2 0 1 6 0 0
4620 B+ —FET 1 3 1 1 2 3 2 3 7 1
9999 ERERXET 17 21 20 23 22 21 23 31 31 27
5010 BRF0H £ HT 3 1 1 6 3 2 1 4 2 4
5020 FAF0BAEET 1 3 2 1 3 1 2 6 0 0
5030 FRFNREI{—HT 2 1 0 2 1 3 5 3 5 4
9999 AFIAXET 6 5 3 9 7 6 8 13 7 8
5510 b RHET 4 3 2 2 5 2 3 2 1 10
5520 = HhHET 8 4 4 5 10 7 2 12 11 4
5530 75 = /T 7 8 4 6 7 8 5 8 4 5
5540 T EERT 3 1 6 3 7 0 3 2 4 3
5550 EEHET 1 0 1 0 0 0 1 2 1 2
9999 =R X 5t 23 16 17 16 29 17 14 26 21 24
6010 [EIHAT/MER 0 0 0 1 2 0 1 0 2 2
6020 [z ET = 1 1 1 1 0 1 3 3 2 2
6030 [EET &I 0 1 1 1 3 1 2 1 2 0
6040 EAZEIFHT 1 4 1 3 1 1 1 3 5 1
6050 JI|ABTE 3 3 2 0 2 2 3 0 2 7
6060 JI|EHETF 2 2 3 1 0 0 1 2 0 0
9999 FEEMRXET 7 11 8 7 8 5 11 9 13 12
6510 H X A#EAHT 1 0 0 1 0 0 0 0 0 1
6520 H & A KIEHET 2 2 1 2 1 3 0 1 3 4
6530 B E AFTHHET 0 2 1 2 1 0 1 2 1 2
6540 HZEALLTHET 2 3 1 2 2 0 1 2 2 2
6550 B E A Z NET 1 1 1 1 2 0 0 0 0 2
6560 HRAIEILHET 0 2 0 2 3 1 2 1 2 1
6570 A=A EgHT 1 3 2 1 1 2 2 0 1 4
6580 H&EAEHT 0 0 1 0 0 1 2 0 3 0
6590 HZ= ATHET 1 0 1 0 1 1 0 1 2 1
6600 B &= AT 0 0 0 0 2 1 3 1 0 0
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THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

9210 $EHET = H 8 3 1 10 9 3 4 3 5 2
9220 SxETHH 5 5 7 12 6 6 8 13 7 8
9230 $EHTE M 9 5 6 6 8 6 5 10 9 7
9240 $EHETIEE 3 0 4 4 2 4 3 6 7 2
9250 % HT At #r b 8 5 6 11 4 2 7 5 7 7
9999 S XET 89 76 74 89 85 76 79 94 90 98
9310 E[FHET:AR 4 1 1 1 2 3 1 1 1 3
9320 H[SHETIL 4 2 2 1 3 2 3 4 5 3
9330 FH[SAT/INE 1 0 2 1 1 1 0 2 3 1
9340 R [ZHTR 3 6 2 2 5 7 4 11 7 8
9999 H[G#HXET 12 9 7 5 11 13 8 18 16 15
9410 RETT & 4 4 1 3 3 5 7 3 5 8
9420 RHETHHE 1 1 2 2 2 0 0 2 3 2
9430 RETFER 2 2 1 2 1 1 0 1 3 1
9440 RETAEF 0 0 0 0 1 0 1 0 0 0
9450 RHETHER 0 0 0 0 0 0 2 0 0 0
9460 RET{—_HE 1 0 0 0 0 1 0 0 0 0
9470 RETEXR 0 0 0 0 0 0 0 0 0 0
9480 RHETHER 0 1 0 1 0 0 0 2 2 0
9999 RIXXEt 8 8 4 8 7 7 10 8 13 11
99999 &t 802 767 747 788 848 669 799 837 777 843
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3100 EH R FEHET 4 2 6 9 5 9 7 8 11 8
3110 EHAILHET 5 10 10 8 5 7 8 6 8 8
9999 /\FHERXET 84 112 121 100 96 107 100 117 110 117
3510 £[R AT 2 2 6 4 1 1 4 0 5 0
3520 £ R chfT 7 4 6 3 4 7 5 8 7 6
3530 &R THT 19 12 8 11 14 20 20 14 16 21
3540 =B KHT 10 6 7 3 3 6 5 7 7 8
3550 AEFHET 12 9 15 17 13 14 15 12 17 18
3560 = T B HET 7 4 2 5 4 5 12 7 5 9
3570 & T AafT 10 8 6 13 12 14 7 14 14 15
3580 FLIFTHT 6 5 6 6 12 8 7 10 10 7
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TRET (K a—F THRET(KF)®& 60 61/ 62/ 63/ 64 65i% 66 67i 68 69
3590 EHT
9999 EHKXET 7
4010 41| N ET
4020 &S HT
4030 5HT
4040 S HEAHT
4050 7K EHT
4060 E=Z HHET
4070 JtJRHET
4080 =;I;HAfT
4090 S5 ERHT
4100 FFEFNHET
4110 JtFFOET
9999 &M XET
4510 AR EE—ZHT
4520 EREE — AT
4530 EREE=ZEHT
4540 EREEIUZHET
4550 EREE FFHT
4560 EREENEEHET
4570 EREE-HZFHET
4580 EREE)\ZHT
4590 EREE N FEHT
4600 EREE-+ZEHET
4610 EREE+—ZHT
4620 EREE+ —ZHHT
9999 ERERXET 3
5010 BRF0H £ HT
5020 FAF0BAEET
5030 FRFNREI{—HT
9999 AFIAXET
5510 b RHET
5520 = HhHET
5530 F4'= HT
5540 wy ZEmT
5550 EEHET
9999 =R X 5t 1
6010 [EHT/NEE
6020 [EHT 4
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1270 EEHT 1 1 0 0 2 1 2 0 3 3
1280 FRAHET 3 2 7 1 0 4 3 5 1 1
1290 $RHET 4 5 3 1 2 0 3 2 0 7
1300 & EEHT 3 5 0 1 1 5 3 1 2 2
1310 RJLHET 0 0 0 1 1 2 1 0 0 0
9999 KM XET 89 104 77 77 84 105 109 68 77 72
1510 A& _E BT 15 10 5 7 8 11 10 9 6 8
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9999 S HKXE 32 30 33 22 11 11 9 7 3
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4030 5HT 3 1 2 0 1 1 0 0 0
4040 = HEAHT 1 2 0 1 1 2 1 1 0
4050 7K EHT 5 3 4 4 5 1 1 0 0
4060 E5Z HAT 6 2 5 1 5 8 3 0 1
4070 JtJRHET 1 2 1 1 0 1 0 0 2
4080 =;T;HAMT 1 2 0 2 0 1 1 0 1
4090 FR ek HET 2 7 1 4 5 4 0 0 0
4100 g FEFOET 2 3 2 0 0 1 1 0 0
4110 JtEFnET 1 3 1 3 3 1 0 1 0
9999 2RI X st 27 29 18 17 25 22 8 4 4
4510 EREE—ZEHT 4 3 4 2 3 2 3 3 0
4520 EREE — AT 3 0 1 1 0 1 1 0 2
4530 EREE=ZEHT 3 2 0 2 1 1 1 1 0
4540 B} EErUZEET 2 2 2 1 3 2 0 0 0
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9999 BEERXET 10 15 4 2 6 5 5 1 0
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6530 B E AFTHHET 0 2 1 0 0 0 0 0 1
6540 HZEALLTHET 2 2 1 4 0 2 1 0 0
6550 B E A Z NET 0 0 0 2 1 1 0 0 0
6560 HRAIEILHET 1 4 1 0 0 0 1 1 0
6570 B EALERIHET 1 2 3 3 1 2 2 0 0
6580 H&EAEHT 2 1 2 3 0 1 1 0 1
6590 HZ= ATHET 1 1 1 1 0 1 0 0 0
6600 B &= AT 1 0 0 1 0 0 1 0 0
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150 1 FFrHET 1 318
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4100 g FEFOET 0 151
4110 JtFFOET 0 170
9999 &M XET 6 2869
4510 EREE—ZEHT 1 745
4520 EREE — AT 1 195
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